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1. What is a major concern about runoff water from a
pesticide storage area?
A. It can evaporate quickly
B. It can contaminate the air
C. It could contaminate ground or surface water
D. It can lead to soil erosion

2. True or False: Protective clothing should be worn during
pesticide mixing and filling only in certain conditions.
A. True
B. False
C. Never needed for mixing
D. Only when outdoors

3. How can reusing pesticide rinsates help minimize waste?
A. By wasting less material
B. By increasing toxicity
C. By reducing need for new containers
D. By decreasing storage time

4. What role does forecasting play in the assessment step of
IPM?
A. It targets specific pesticide brands
B. It predicts future pest outbreaks based on weather
C. It determines soil conditions
D. It benchmarks pest control success rates

5. What effect can proper handling of highly toxic materials
have on their hazard level?
A. It can increase the risk of harm
B. It can maintain a low hazard
C. It has no effect
D. It can always reduce the hazard
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6. What type of herbicide would be more appropriate for
controlling weeds in a park?
A. Selective herbicide
B. Non-selective herbicide
C. Residual herbicide
D. Systemic herbicide

7. What is an "attractive nuisance" concept in pesticide
application?
A. A safety net for equipment
B. A legal term for hazardous items that can attract children
C. A marketing strategy
D. A type of pesticide

8. How many teaspoons of emulsifiable concentrate should be
used for 1 gallon if 2 pints are recommended per 100 gallons?
A. 1 teaspoon
B. 2 teaspoons
C. 3 teaspoons
D. 4 teaspoons

9. When should a used nozzle be replaced based on its flow
rate variation?
A. If it varies 3% or more
B. If it varies 5% or more
C. If it varies 7% or more
D. If it varies 10% or more

10. When 1 pound of wettable powder is suggested per 100
gallons, how many tablespoons would you need for 1 gallon?
A. 1 tablespoon
B. 2 tablespoons
C. 3 tablespoons
D. 4 tablespoons
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Answers
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1. C
2. B
3. A
4. B
5. B
6. A
7. B
8. B
9. B
10. A
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Explanations
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1. What is a major concern about runoff water from a
pesticide storage area?
A. It can evaporate quickly
B. It can contaminate the air
C. It could contaminate ground or surface water
D. It can lead to soil erosion

Runoff water from a pesticide storage area poses a significant risk because it can carry
harmful pesticide residues into nearby ground or surface water. This contamination can
have detrimental effects on aquatic ecosystems, drinking water supplies, and overall
environmental health. When pesticides enter water bodies, they can disrupt aquatic life,
harm fish populations, and impact the quality of water used for agricultural and
recreational purposes.  The other options, while they may be concerns in different
contexts, do not directly address the primary issue associated with runoff from pesticide
storage areas. For instance, evaporation does not directly relate to the effect of pesticide
residues on water sources. Contamination of the air is generally linked to pesticide
application rather than runoff, and soil erosion, while a serious agricultural concern,
does not specifically relate to the contamination threats posed by stored pesticides in
runoff scenarios.

2. True or False: Protective clothing should be worn during
pesticide mixing and filling only in certain conditions.
A. True
B. False
C. Never needed for mixing
D. Only when outdoors

Protective clothing is essential whenever handling pesticides, including during mixing
and filling, regardless of the specific conditions. Pesticides can pose serious health risks
if they come into contact with skin or are inhaled. Therefore, proper protective
gear—such as gloves, masks, goggles, and long-sleeved clothing—should be worn at all
times when dealing with potentially harmful chemicals, including in indoor environments
or during brief activities.  The idea that protective clothing is only necessary under
certain conditions could lead to unsafe practices. For instance, pesticides are hazardous
regardless of the surrounding environment or duration of exposure. Wearing protective
clothing ensures that the applicator is safeguarded against accidental exposure, which
can occur unexpectedly, regardless of how familiar one is with the product being used. 
Overall, the necessity of protective clothing is a fundamental aspect of safely handling
pesticides, emphasizing a commitment to personal safety and health.
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3. How can reusing pesticide rinsates help minimize waste?
A. By wasting less material
B. By increasing toxicity
C. By reducing need for new containers
D. By decreasing storage time

Reusing pesticide rinsates plays a significant role in minimizing waste by reducing the
amount of material that needs to be discarded. When rinsates, which are the residues left
in containers after pesticides have been used, are reused instead of being thrown away,
this directly translates to less product being wasted. Additionally, rinsates can often be
incorporated into subsequent applications of pesticides or used in other approved ways,
thereby maximizing the utility of the chemical products and conserving resources. 
Selecting this approach also aligns with environmentally responsible practices. By
minimizing waste, pesticide applicators can reduce their environmental footprint and
promote a more sustainable method of pest management. Overall, reusing rinsates is an
effective means of enhancing efficiency and reducing the overall quantities of pesticide
products that are disposed of, ultimately benefiting both the applicator and the
environment.

4. What role does forecasting play in the assessment step of
IPM?
A. It targets specific pesticide brands
B. It predicts future pest outbreaks based on weather
C. It determines soil conditions
D. It benchmarks pest control success rates

Forecasting plays a crucial role in the Integrated Pest Management (IPM) assessment
step by predicting future pest outbreaks based on environmental factors such as weather
conditions. This predictive capability allows pest managers to take proactive measures to
prevent potential infestations rather than merely reacting to existing problems. By
understanding how weather patterns, humidity, and temperature influence pest life
cycles, practitioners can anticipate when pests are likely to emerge or reach damaging
levels. This foresight enables the development of effective management strategies
tailored to specific timing, thus optimizing the application of controls and minimizing
unnecessary pesticide use.  The other options do not align with the specific function of
forecasting in the context of IPM. For example, targeting specific pesticide brands
relates more to product selection rather than prediction. Determining soil conditions is a
separate assessment that influences pest presence but does not involve forecasting pest
outbreaks. Similarly, benchmarking pest control success rates is a method of evaluating
past performance, rather than predicting future pest behavior. Thus, the essence of
forecasting in IPM lies in its ability to anticipate pest problems, enabling timely and
appropriate management responses.
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5. What effect can proper handling of highly toxic materials
have on their hazard level?
A. It can increase the risk of harm
B. It can maintain a low hazard
C. It has no effect
D. It can always reduce the hazard

Proper handling of highly toxic materials is essential for minimizing the risk they pose to
human health and the environment. When these materials are managed correctly, it
helps to maintain a low hazard level by ensuring that exposure is minimized, containment
is maximized, and safety protocols are followed. This includes using appropriate personal
protective equipment, understanding the characteristics of the materials, and
implementing safe handling procedures.   Maintaining a low hazard level directly stems
from the effectiveness of the management practices in place. For instance, proper
storage, labeling, and disposal practices reduce the likelihood of accidental exposure or
environmental contamination. Safe handling protocols such as avoiding spills and
ensuring that materials are only used in well-ventilated areas further contribute to
keeping the hazard level low. Hence, through diligent handling and adherence to safety
regulations, the inherent risk associated with highly toxic materials can be effectively
managed and contained.

6. What type of herbicide would be more appropriate for
controlling weeds in a park?
A. Selective herbicide
B. Non-selective herbicide
C. Residual herbicide
D. Systemic herbicide

A selective herbicide is the most appropriate choice for controlling weeds in a park
because it targets specific types of plants while leaving desired plants, such as grass or
flowers, unharmed. This is particularly important in a park environment where
maintaining the aesthetic and health of ornamental plants and turf is crucial for public
enjoyment. Selective herbicides allow for effective weed control while preserving the
biodiversity and beauty of the landscape, ensuring that the park remains attractive and
functional.  In contrast, non-selective herbicides would kill almost all plants they come in
contact with, which could result in significant damage to desirable vegetation in the
park. Residual herbicides, which remain in the soil and continue to affect plants over
time, can also pose a risk to desirable plants and the overall ecosystem of the park.
Systemic herbicides work by being absorbed and translocating throughout the plant to
attack it from within, which may or may not be suitable depending on the weed species
and the presence of desirable plants nearby. Thus, selective herbicides provide a focused
and safe solution for managing weeds in park settings.
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7. What is an "attractive nuisance" concept in pesticide
application?
A. A safety net for equipment
B. A legal term for hazardous items that can attract children
C. A marketing strategy
D. A type of pesticide

The concept of "attractive nuisance" relates specifically to legal principles concerning
safety and liability, particularly for children. When applying pesticides, this term applies
because certain features of a property, such as pools, machinery, or chemicals, may
attract children and pose potential hazards. If a child is drawn to these hazardous items,
the property owner may be held responsible for ensuring safety measures are in place to
prevent accidents.  In terms of pesticide application, this means that applicators must be
mindful of how the pesticides or the areas where they are applied might attract children.
Ensuring that areas are securely protected or warning signs are posted can limit liability
and ensure child safety.  Other choices do not correctly characterize the concept of
"attractive nuisance." A safety net for equipment does not pertain to the legal
expectations concerning children's safety. A marketing strategy does not involve any
legal liability or safety concerns related to children. Lastly, labeling something as a type
of pesticide does not align with the legal definition, which focuses more on the
implications of hazardous conditions rather than the substances themselves.

8. How many teaspoons of emulsifiable concentrate should be
used for 1 gallon if 2 pints are recommended per 100 gallons?
A. 1 teaspoon
B. 2 teaspoons
C. 3 teaspoons
D. 4 teaspoons

To determine how many teaspoons of emulsifiable concentrate should be used for 1
gallon, we first need to understand the initial recommendation of 2 pints per 100 gallons.
A pint is equivalent to 16 ounces, so 2 pints equal 32 ounces. This means that for every
100 gallons of water, 32 ounces of emulsifiable concentrate are to be used.  Next, we
convert 100 gallons into ounces, recognizing that 1 gallon equals 128 ounces. Therefore,
100 gallons is equivalent to 12,800 ounces.   Now we can calculate the concentration
required for 1 gallon. If 32 ounces are needed for 100 gallons, we divide the amount used
by the total gallons to find the amount needed for just 1 gallon:  32 ounces ÷ 100 gallons
= 0.32 ounces per gallon.  Next, to convert ounces to teaspoons, it's important to know
that 1 ounce is equal to 6 teaspoons. Thus, we can convert 0.32 ounces into teaspoons: 
0.32 ounces × 6 teaspoons/ounce = 1.92 teaspoons.  Since we typically round to the
nearest whole number for practical application when mixing pesticides, 1.92 teaspoons
can be rounded to 
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9. When should a used nozzle be replaced based on its flow
rate variation?
A. If it varies 3% or more
B. If it varies 5% or more
C. If it varies 7% or more
D. If it varies 10% or more

The guideline for replacing a nozzle primarily revolves around maintaining effective and
efficient pesticide application. A variation in the flow rate of 5% or more indicates that
the nozzle may not be delivering the correct amount of pesticide, which can lead to both
under-application, risking ineffective pest control, and over-application, resulting in
potential harm to the environment and non-target organisms.   Nozzles that maintain
consistent flow rates are crucial for accurate application rates, ensuring compliance with
label directions and safety regulations. By replacing nozzles showing this level of
variation, applicators can help ensure uniformity in application across different areas,
which is vital for efficacy and safety. This standard helps practitioners avoid negative
outcomes associated with inconsistent pesticide delivery.

10. When 1 pound of wettable powder is suggested per 100
gallons, how many tablespoons would you need for 1 gallon?
A. 1 tablespoon
B. 2 tablespoons
C. 3 tablespoons
D. 4 tablespoons

To determine how many tablespoons you would need for 1 gallon when 1 pound of
wettable powder is suggested per 100 gallons, it’s important to first establish the ratio of
the pesticide to the water.  If 1 pound is needed for 100 gallons, this means that in 1
gallon, you would need 1/100 of a pound of the wettable powder. Since 1 pound equals 16
ounces, dividing 1 pound by 100 gives you 0.01 pounds per gallon, which is equivalent to
0.16 ounces (as 0.01 pound x 16 ounces/pound = 0.16 ounces).  Next, to convert ounces
to tablespoons, knowing that there are 2 tablespoons in 1 ounce helps with this
conversion. Therefore, if you have 0.16 ounces, multiplying that by 2 (tablespoons per
ounce) yields 0.32 tablespoons.  Considering common cooking and measuring practice,
this would round to about 1 tablespoon for ease of measurement, given that the closest
practical measure would be easier to work with. Therefore, when following the guidance
provided, the appropriate answer is 1 tablespoon for 1 gallon.
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